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Instructions:

(i) All Questions are compulsory.

(ii) There are 28 objective questions from question no. 1 to 5. Each
Question carries 1 marks.

(iii) Question no. 6 to 12 are very short answer type question. Answer each
guestion in 30 words approximately. Each question carries 2 marks.

(iv) Question No. 13 to 16 are short answer type question. Answer each
guestion in 75 words approximately. Each question carries 3 marks.

(v) Question No. 17 to 20 are long answer type question. Answer each
qguestion in 120 words approximately. Each question carries 4 marks.
(vi) Internal option are given from question no. 6 to 20.

(vii) If necessary Draw well labeled diagram.
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(i) STEET & FoFE ToTT T TERTOT 2rarT 8 —
(A) Fre TEmTT (B) IWWOT  (C) T
(ii) T ®A FT TRALT ZraT &-

O EISIER (B) i & (C) sieTerT &
(iii) e forfera & & fAomEestt uedi &-
(A)TT (B) tt (C) Tt
(iv) =fe H I areT F987 §-
(A) ferEmT (B)=RfwaT (C)FTiRI=T

(V) srepfae staafe sfear 2 -
(A) TR T AT (B)sfrarmy «sft
(C) Frfewe (D)E. wierg

)

1x6=6

(V1) Toreft | ETr & STTaT 6T AT AR § R 9\ Fir 39 99T # Fgd o-

(A) Ffee i (B) wwTAT SITfd () 9=

1. Choose the correct option and write-

(i) What type of pollination takes place in Hydrilla-

(A) Insect pollination (B) Wind pollination
(C) Self pollination (D) Water pollination
(ii) True fruit developed-

(A) From the ovule (B) From seeds

(C) From ovary (D) From tapetum

(iii) Which of the following is heterozygous allele-

(A)TT (B) tt (C) Tt

(iv) Cancer occurring in blood is-

(A) Lymphoma (B)Leukemia (C) Carcinoma
(v) Natural genetic engineer is -

(A) Agrobacterium tumefaciens (B) Bacteriophage

(C) Cosmid (D) E. coli

(D) st fafaerar

(D) RR

(D) Sarcoma



(VI) The population present in large numbers or size in a community is called of that
community.

(A) Specified species (B) Effective species (C) Community (D) Species diversity.
2. T st i T i - 1x6=6

. 100 3= S HITAHTEA Ao SERT] T

.  DNA T # =[fFAaleTze! Fil TRET SIS aTAT a7............ 2T 2|

.  TTESTEEH, TS AT, TATH AT 3. SALH F SEATET 2

IV. 9agLamEa § Eerfiq ... T HTAT H AT ST 8 |
V. UH Sia e et §9ed i a5 Rar mar g s9 o Fgd gl
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2. Fill in the blanks and write-

L I Sperm will be formed From 100 secondary spermatocytes.

Il. In the DNA molecule, the bond that connects the nucleotides to each other is............
iii. Rhizobium, Azolla, Anabaena etc. are examples of .................... fertilizer.

IV. Vitamin................... is found in abundance in golden rice.
V. Organisms whose genetic organization has been changed are called....................

vi. Pyramid of energy in the pond ecosystem is always................

3. I AT (qH qT- 1x6=6
LT T E & HE 6 HAdd (FIEA) &l U= Fgd gl

ii. 7797 AT MTert § TSTeed T Ud TEEIST| gTHI T AR 3T 1T 8l

i, STTRAAA T FT S § qHaa g

iv. TR O ST & aEmadiee d Fgd 8|

V.Z I AT A1 A BRS¢ T AT § T w5l o

Vi, STl | #ile FaH AT T9G ST a9 998 gl

3. Choose true or false-

i. The fusion of male and female gametes is called fertilization.

ii. Progesterone and estrogen hormones are used in birth control pills.
iii.Mutation is caused by change in genes.

iv. Saccharomyces cerevisiae is also called 'Baker's yeast'.

v. Both the chains of insulin are connected to each other by phosphate bond.



vi, Insects are the most prosperous ethnic group among animals.

4. FET STSAT T30~
HAd A Hrad B
|  gaTFE - (a) AUG
. S H FEE - (b) ++
. werstt - (©) pBra2z
V.  FAI=T SaT8h - (d) IgE
V. s ; (e) *-
(f) dToAT §
4. Match the correct pairs-
Column A Column B
l. Polar body €) AUG
Il. Initiation codon (b) ++
iii. allergy (c) pBraz:
IV.  Cloning vector (d) IgE
V. Parasitism (e) + -
() oogenesis
5.T% T ¥ 3I< ferfe-
|, TATEEAT H ATATTAF SRl &7 qaqT o900 a0t fofer 71 797 77 872
Il =i =Tiea « e gt @ o2 Fh=T & 3 o ?
. qETE | 9T S a7 g aTeh LTt e &7 a7 o)
IV. ‘GEAC =T fawamr ferfam]
V. T gOad § FATs I A F o F [Ateedr ® F#7 IRadad grar g ?

5. Write the answer in one sentence-

| .What is the name of the method of detecting genetic disorders during pregnancy?

II. On which island group did scientist Darwin see finches?

iii. Write the name of the harmful chemical compound found in tobacco.

IV. Write the full form of ‘GEAC.

V. What changes occur in biodiversity by increasing altitude from the earth's surface?

4

1x5=5

1x5=5



6. ZIFT =i GIFT & =< &y siax forfem|

Write any two differences between ZIFT and GIFT.
AI4qT/ or
IUD =T faeame ferfer| =g stew =2 fAe=r § fofe Johe 9113 22

Write the full form of I[UD. How is it helpful in controlling birth rate?

7. WS 7 TH TIRT | T2 o 9T T 939 AT RAT?HS &l 10 forfau|

Why did Mendel choose pea plant in his experiment? Write any two reasons.
AI4qT/ or
St fafw g ?

What is crossing over?

8. AT S fahre #4752

What is divergent biological evolution?
AT4T/ or
ATIETT ST faare 7T 872

What is convergent biological evolution?

9. ATATT & T AT o 77 forfem)

Write the names of the constituent gases of biogas
AqdT/ or

FEt e 1 2 FFowaTe forfeo

Write 2 characteristics of Bt cotton.

10. RNA sfazerT fate #m g2
What is RNA interference method?
4T/ or
AU GTRT ITATATSVHT T TRe TRTE TIRT ST 9ahdT 872
How can biopatents prevent biopiracy?

11. I gl AteaAt * W forfew, ST awfe g w1 [ #3 g
Write the two name of growth model that represent population growth.
AI4qT/ or
gt TadT Ua HgHIodr § &7 sia¥ oy

Write any two differences between symbiosis and commensalism.



12. T2ET T FRET el ST FAT gl SITam g2 2
What is called the lung of earth and why?

q94T/ or
AT T AT FHTHT & ITAT | 412 ST ATAT o (A Taegar st ot U fog & e 9

Frfom]

Compare the ecological biodiversity existing in India and South America on the basis of one
point.

13. 39T AT 2 FUT F Fre & wrd forfemy| 3
What is placenta? write any two function of placenta.
4T/ or
e 995 H1 o 94 o 1 AEE 9 S50 9971 359 ffei@d 9 @i Tt
EAIELE
(i)  sA=aTtE-t Fieteh < fafi= gm
(i) T fiata 6t fafim wg

Draw a schematic diagram of the reproductive system of an adult woman and label its
following parts:

(i) Different parts of the fallopian tube

(ii) Different layers of the uterine wall

14, S{H1ETET U 2T |§ 5 q149 o< e 3

Write any three differences between genotype and phenotype.

AI4T/ or
TAE-TATAAT o ST TATIAAT I T o |

Explain co-dominance and incomplete dominance.

15. T T HITor T FAT TAGAT AT ATSS I RALTHII AT ITd g T AATST & qTed qrer
GHL 3
Explain the reason why legume plants are able to fix nitrogen but cereal plants are not.
AI4T/ or
FTAATIE ITANT H AT ATl gl T GeASET & A8 TAqT ITIRT @)

Name any three microorganisms that are commercially used also write their uses.

16. Torelt AT AT Toeft oTia= & TS et & 719 ue Iargeor forfe 3
Write names and examples of various components of a man-made terrestrial ecosystem.
Aq4T/ or

ST AT 7 TOTTHE =T UF 3T TA|T Th1E T &1 ThdT 8, SaT8 L0l g #9¢ fiford|

The pyramid of biomass can be both straight and inverted, explain with example.



17. STEITSHA(THITHFEE) T FGgorar (TAUEAET) H 8 iy | 4

Explain Apomixis and Polyembryony
HI4qT/ or

T HHRGTTE (A ATHS RIS E) T HIET THHRGE(HIHT THEREE)H  HIE 91 a¥
ferfem)

Write any four differences between male gametophytes and female gametophytes.

18.  THTIA FISH &l AU HIeH FI Fgd &, SHHI TTL FLd gU ATATTAF Fd il hlg AT
frorraTd ferfe| 4

Why is the Terminator codon called the nonsense codon, explaining it Write any four
characteristics of genetic code.

AT9T/ or

79 Ug 9" A4 39T GE0 AT SO0 (a) HE, (b) HEAW, qA1 (¢) AUhEW H
o | g =w Fi =men it eE @' fig F9 § meEa e
E.UA.U, A vgid 2 |

Hershey and Chase carried out their experiment under three steps :
(a) Infection, (b) Blending, and (c) Centrifugation. Explain each one of
these steps that helped them to prove that DNA is the hereditary

material.

19. AT | AT T A AT Tohral 4 TRIN & ATH, FI0T F a1-af 70 orfeu| 4
Write the names, causes and symptoms of any 4 diseases caused by bacteria in humans

FAI4T/ or
i GATHT GHAT STI FT T Fd g, Fheal ar STITRM & a1+ forfe|

Explaining sexually transmitted infection STI, write the names of any two STI diseases.

20. AT 98 FT 87 qI8dh & IR A&7 foaRay | 4
What is cloning vector? Write four characteristics of vector.

94T/ or

JTATRTHT & 3T T GHAJ 2 THRT Flg A1 [@uaru forfem)

What do you understand by bioreactor? Write its any four features.



